A A(-1, 2), B4, 5)914 22 A2 9l xF 919 A PotyE
9ol Qe FHwE Folw?

D P(24,-1), Q(0, 6) @ P(3.6,0), Q(-1, 6)
@)r@ss6, 0), Q. 6) @ P(2.4,0), Q0, 5)
® P(3.6,0), Q(-1, 2)

A(-1, 2), B(4, 5)°llA Z2 Al 3l P(x, 0) 2 Q(0, )
£ ook 3tng2 AP = BP oA /G2t =
(x —4)% 4 52

IS AEshH 10x =36 . x=3.6 .. P(3.6, 0)
Q=BQoIH VE+(-22= VB (-7
IS AEstH 6y=36.. y=6 .. Q(0, 6)




ey 1= 0,y 68y = 0] A BA F
A2

8o 4
o ro

SR EREL D]

@ SF@t

® F oA qhdch

@ WHg

@) 01 v 9o o] it

B

X2 +y*—2x-2y+1=0& 32stH

(x=-12+(-1)72=1

22 +y2—6x—8y =0= A5tH

(x=32+(-4)72=5
3-12+(d-12<5-1

wfabA g o] the el o) sl




RE A4 xofl thate] oA (m+ 1)x% - 2(m - 1)x + 3 9] o] 4
2R AEE S E AT m A WY 7ta<m<b € W, a+b 9 T
otoiet,
[ =

> HMe: 3

(m+1)x®>-2(m-1)x+3>2
(m+1)x2-2(m-1)x+1>0°]B=
m# -1, m>—10°]1, D <0 °|t},

D

Z:m2—3m<0 L 0<m<3
a=0,b=3

La+b=3




= A AL 2),B(3,-2) & ©]<> AB ] B }o 2 o] A%t 9o
AC: BC=2:12¥=3s=4C 9 &

of g ooz,

==Mlve
i
)
=
v}
ok
£
Q1\3
+
ol
[

> E

> =g 61

HACEAREABE2: 12 9HEst= HolB2 C(5,-6) ot
@+ b% =52+ (-6)2 =61




A A0,2), B(2,0), C(3,3) &2 o]Fo]zl HZFFABC 7} Ut
AABC 7F A (k+ Dx + (k- 1)y = 2(k— 1) o oJaf & 79 =
PO R LHro|2H, 3F £9] Yo 7t thg & Yol o] F uijrt 2 wj o] &
- FotolEh (B, k& BSolth)

> =
> g

B \
k(x4+y-2)4+x—y+2=02k o ZA o]

A0,2) & A= AAolnz

AABC & 183} o]

2 Mol Aoz -7 "t

A
i C(3,3)
Al(0,2
E
D
0 B(2,00 <

et BCE1:2EE2: 1 2 YEsH:=
D, E & AUA At

o(Z1).5(52) olmz
(i) D= A<

7 7
3+ +3-1+




O|AF L y = ka? + k(k+ 1)x + 242 -2k +1 2 k ]
P DT S Adrh o] O] HAEE P(a, b)
ghe Fstet

> E:

> ™MEH: -1

Zholl #A o]
T a+b 9

Lx=-2,y

kol #sto] A e|stH

(x+ 22+ (2 +x-2k+(1-y)=0
kol et F5Alo|BnE

x+2=0, *+x-2=0, 1-y=0

=1

- Fohe e FHTE (-2, 1)
Ta=-2, b=+1
T a+b=-

1




A (L,-2) 8 AvE F4A-E H(2, 3)°l tiste

@y:—4x+2 @ y=4x+2 @y

@ y=4x+4 ® y=-4x+6

(1,-2) B Avke 4o BAAL
y+2=m(x-1)---@olzt o}H
©4E A (2.3)° oI5
x—4-xy—6-—yo|RLE
6-y+2=m(4d-x-1),y
1A @2 xZol ol 5o
-y=m(x-3)+8 ---Q
24 Qo] A (4,-4) 5 AUER
A=mA-3)+8. . m=-4
oeba A& AAe B DL
y+2=-4(x-1),y=-4x+2




8.

AAEAA 48 422 fxt 1

Fatelet.

Il
=

>

> g 1

o
rﬂ
1N
ot
rr
il
rl
]
o

~&B

Ao+ x+1=09 FHS
P Oog LhEd

5 1 1
¥ +x+2+-+5=0
x X

CHRICS
x+—-] +lx+-)=0
x x

1 N
x+ = =1t2 X|3otH

X
2+t=0tt+1)=0
Lt=0FEE=tr=-1
. 1
(l)x—i—;:O?—:]-“H,xz—Fl:O
SoX =i
. 1
(i) x4+ = =-1% o,

X
24+1l==xx>4+x+1=0
-1+ V3i

2
(i), (ii)ollA Foix A9 Z2
~1+ V3i

2
-1+ V3i  -1-V3i

5 T2

x=+xiF=x=

rr

L) it




2Q BE AL xof tste] ES5A x2 —ax+a?> -4 < 09|
g AHEA oh= A a O] S M, FEFE m ol S o,

® 4 @ 3 ©F @ 1 ® -1

fx)=x*-ax+a*-4 2 F&
Zoln 2549 dt0, 2 8 B Sl

£(0) <0, £(2) <0 °]efoF gttt.

Yy
y=f(z)

NN

f0)=a?-4<0

L —2<a<2---0
f(2)=-2a+da*<0

L 0<a<2---©O

9, 09 3FHA=0<ax2
Tt M =2, m=0°22 M -m =2




10.

A x? +y? =13 A Hax + by + ¢ = 0°f st oFF <H7]>
2 AL E I2H? (Ha b ce BT FFolilb>a)

@ ¢ = bOlH F Hoj A ghdt},
© ¢ =2bo|H Th}A] k=
© c= Va2 +b2o|H g HojA| ghdtt,

®a @ @0 ® @, ©
@ ©,® ®o, 0,0

~&B

HoJ F4lo] (0, 0)o]B=E o] FAloA A4
ax+by+c=0°] o|2= A E 42t 5tH
d—_d4
@) :\/%W<IZHEEE@%27HE}
=, n(ANB) =2

2b 2b
@d:mzﬁb>l('b>a)
OBE w2 gith
04 VT _

I8Bes2 w3e 1 7)o
H2t4 6, ©, © 25 Holtt




A y=3x+n°l ¥x+y?-4x+6y-3=00°] oJoto] 2 A9
Zol7t 246 & W, A4 n 9] #He] 22

@-18 @18 0-2 @2 60

B

(x=2)+ (y+3)2 =42 0|2

Il wEhA, AT} FATe] A=
4% — (V6)* = (V10)? °fl w=hA V10
3x—y+n=01(2, -3) 2 A

16 + 3 + n| Vio
—— = V10
V32 +1
19+ n| =10

on==*10-9=1o0or —19
. 1-19=-18




Yl W o] dolz A2 thE Ads=olal, AB =9, CD = 7, /BAD =
/BCD = 90°°] AZtd ABCD 7} @ltt. Hi2H4 BD &] Z4ol& 2t &
o, 2 9] & F-ohH?

®s3  @ss ® 87 @120  ©® 130

92 4+ a? =72+ b2 b%-a® =32

(AAolBR, b > a)

(b—a)(b+a)=32 = FZFA4

b>aolBE

b-a,b+a BT AETo|EE,

o] 3271 E&= 9] 232

1%x32=32,2x16=32,4x8=32, ---

b-a=4,b+a=8% 1 27o] otz

a=2,b=6°]|c}

b+a=16,b—a=2% W=

Aot A= thE AAg 230 SiulsiR =,
?2=924+22=81+4=285




13.

®a=-2,b=-1 @ a=-1,b=0
1 7 7 14
®a_§9 —g @a—g,b—?

[e)

a+T7<ax+b<4b+ 2a
(1) a>0% o,

-b
a+T7<ax+b, xza—”

3b+2
ax+ b <4b+ 2a, x < RECL

a—b—|—7< 3b + 2a

a a
a-b+7 3b—|—2a_8
a v a
7 14
.a=—, b= —
“T3UT3
(2)a<0¥ o
3b + 2a a—-b+7
<x<
a a
3b+2a:2,a—b+7:8
a a
La=1,b=0




